

Company Name	Transportation Plus, Inc.	Address	5010 Hillsboro Ave N
City	New Hope	State	Minnesota
Zip	55428	Contact Name	Tom Anderson
Contact Email	tanderson@tplusride.com	Contact Phone #	763-592-6410

Refer	References					
	School District	Years served	Daily Routes Serviced	Contact Name	Direct Phone#	Contact Email
#1	Minneapolis Public Schools	15	100	Carlos Virgen-Ceja	763-328-4770	Carlos.virgen-ceja@mpls.k12.mn.us
#2	Osseo Area Schools	10	350	Troy Schreifels	763-391-7248	schreifelst@district279.org
#3	MN Internship Center	5	50	Amirah Bakri	612-806-1720	bakri@mnic.org

### Qualifications Checklist

	Your Response [Y/N]		
Are you eligible to provide Student Tro	Are you eligible to provide Student Transportation Services to public school districts in the State of Minnesota?		
Have you rev	No. See note about Insurance Requirements.		
Has any district or charter school terminated a contract	Yes		
If <b>YES</b> , please share the circumstances for which your contract was terminated.	We opted out of our contract with Anoka-Hennepin District #11 because of the For Excess Liability Coverage we have a fleetwide policy of \$2M for a total of required \$4M total and the cost we were paying to obtain that additional cov contract exceeded the value of what we were billing the district, so it was cost p		



Your Fleet					
Description	Total Quantity	Average Age of Vehicle [YEARS OLD]	Oldest Vehicle in Service [YEARS OLD]		
Type III Vehicle	232	8 Years Old	2010		
Type III Vehicle w/ wheelchair lift	8	10 years Old	2012		
Specialty Care Vehicle	-	-	-		
Type A Bus	-	-	-		
Type A Bus w/ wheelchair lift	-	-	-		
Drivers w/CDL	0				
Total Drivers (All)	177 Type III Certified				
Paraprofessional (Bus Aide)	5 (will add more if necessary)				

### Questions and Points-of-Interest

Question/POI	Your Response
What are your dispatch hours?	School Team Hours: M-F 6:00 AM to 6:00PM; Dispatch hours are 24/7/365.
What is your vehicle/route to dispatch ratio? [X:X]	To handle our order volume, we require a very efficient and sophisticated dispatch platform. Rides dispatch automatically to the assigned driver OR to the closest available vehicle matching the order conditions 10-30 minutes ahead of the pickup time. We have 1-3 Dispatchers on duty that handle "exceptions" that come up.
Please share how much time you require to add a scheduled route after request is submitted. [DAYS]	We use a routing program that runs at 9 AM for the next school day's trips, but we can manually enter a ride(or route) at any time for pickup as soon as now.
Please share how quickly a scheduled route can be cancelled and when route charges will be terminated.	Any trip cancelled 1-hour in advance of the pickup time will not be charged. Trips cancelled within 1-hour of pickup time will be billed at full price. Also, if a route has multiple students, and one student cancels, trip amounts do not get adjusted for the cancellation – they will be billed at full price.
Please describe how students, district staff, and families can identify your vehicles (branding, signage, consistent color/model, etc.)	All vehicles have "Transportation Plus" across the door panel on each side of the vehicle and a vehicle number on the front fenders and rear of the vehicle. Additionally, if the cell number of the passenger is provided, the rider will get a text once the driver accepts a dispatched order, showing the vehicle number and a tracking link. (Texts and calls come from our dispatch system with a number of 612-888-888. Drivers do not see or have access to any student phone number.)



Questions and Points-of-Interest (cont'd)					
Question/POI	Your Response				
Please describe how you communicate with your drivers during routes.	All drivers have a company distributed tablet that communicates order information to the driver. If necessary, we can communicate with the driver through the tablet, but most often we will call the driver via cell phone if we need to talk to them about an order.				
Please describe if/how the district can communicate with your drivers?	All communication should go through our School Team to be communicated with a driver or drivers.				
Please describe how route delays are communicated to district.	With the volume of routes we provide each day, we do not have the ability to proactively communicate delays to the district. That being said, unless there is a weather delay, there generally are not many delays. We do have an online portal where rides can be tracked. Our school team can track/report the status of any particular ride as well.				



Questions and Points-of-Interest (cont'd)				
Question/POI	Your Response			
Please describe how and when 'no loads' are communicated to the district.	Drivers communicate to our Dispatcher any student who no loads and Dispatchers mark orders accordingly. Each day at noon, our automated no-load report runs and is emailed to any member of your team that needs a copy of the report. Each No Load Report notes the child's name, pickup and drop addresses, job numbers for the GO and RETURN ride, and the number of consecutive and total no loads for the student. Each morning at 4:45 AM another report is emailed that summarizes the order status and timeliness of the previous day's rides for each student.			
What GPS System is utilized in your fleet?	All orders go through our dispatch system (MTI). MTI includes turn-by-turn directions for the driver and provides real-time GPS coordinates of the vehicle's location. Every action about an order is time-stamped and vehicle GPS coordinates and speed are recorded every 30-seconds			
Can the district access this application to track routes assigned to you?	Yes, through our online portal (eRide). eRide is a 3rd party plug-in application to our dispatch system that allows users to enter orders directly into MTI and also allows users easily monitor ride statuses and real time location of vehicles.			



Questions and Points-of-Interest (cont'd)				
Question/POI	Your Response			
What is the camera system/configuration in your Type III vehicles?	Samsara Dual Facing AI Dash HD Camera (Front-Facing and Driver-Facing cameras.) Reference Appendix B for more information regarding our cameras.			
What is the camera system/configuration in your Type A vehicles?	Not Applicable.			
How long does your organization store video footage files?	Stores video with sound for 2-3 days. Stores video for about 20-days.			
How quickly would you be able to send the district requested video footage?	We can generally provide video within an hour of a request.			



### Proposed Pricing for Peak Time

Pricing applies to all routes starting between the hours of 06:30-09:30 OR 14:00-16:30 during school year.

For any vehicles or services, you will NOT be quoting, simply type "No quote" near that vehicle or service type.

Vehicle Type	Proposed Price for Live Time (\$)	U/M billing increments	Proposed Minimum per Route Segment*
Type III Vehicle (7-8 passenger)	\$2.75/mile + \$10/Additional Stop*	Not Applicable	\$30
Type III Vehicle w/ wheelchair lift	\$2.75/mile + \$10/ Additional Stop * (Max Psgr = 2)	Not Applicable	\$50
Type III Vehicle (10 passenger)	No quote		
Type A Bus	No quote		
Type A Bus w/ wheelchair lift	No quote		
Type C Bus	No quote		
Aide	\$50	Not Applicable	\$80

\*Additional Stop = any stop beyond 1st pickup and 1st drop

\*Segment defined as one tier (to OR from) of route

Multiple pickups or drops at same location count as 1 stop

### Proposed Pricing for NON-Peak Time

Pricing applies to all routes starting runs starting during the NON-peak times described above (field trips, etc.) during school year and ALL summer routes.

For any vehicles or services, you will NOT be quoting, simply type "No quote" near that vehicle or service type.

Vehicle Type	Proposed Price for Live Time (\$)	U/M billing increments	Proposed Minimum per Route Segment*
Type III Vehicle (7-8 passenger)	\$2.75/mile + \$10/ Additional Stop	Not Applicable	\$30
Type III Vehicle w/ wheelchair lift	\$2.75/mile + \$10/ Additional Stop (Max Psgr = 2)	Not Applicable	\$50
Type III Vehicle (10 passenger)	No quote		
Type A Bus	No quote		
Type A Bus w/ wheelchair lift	No quote		
Type C Bus	No quote		
Aide	\$50	Not Applicable	\$80

\*Additional Stop = any stop beyond 1st pickup and 1st drop

\*Segment defined as one tier (to OR from) of route

Multiple pickups or drops at same location count as 1 stop



### Proposed Pricing – Other Fees

Please share any other fees the district may be assessed during the life of the agreement. Any fee NOT disclosed in this section below can NOT be charged to the district without written approval from the district administration.

You may use the additional open "Fee Type" spaces below to propose any other potential additional fees.

Fee Туре	Fee (\$ or %)	Unit of Measure
Administrative/Management Fee	\$0	Not Applicable
Specialty Care Vehicle Fee	\$0	Not Applicable
Child Seat Fee	\$0	Not Applicable
Fuel Surcharge	\$0	Not Applicable

Maximum Annual Rate Increases				
Vehicle Type	Proposed Rate Increase			
Year 2 (%)	\$.05 increase on per mile rate			
Year 3 (%)	\$.05 increase on per mile rate			
Year 4 (%)	\$.05 increase on per mile rate			



Price Estimates based on 2024-25 School Year Data (Assuming each stop is a different address)															
Route	Days	Vehicle	Riders	Stops	Wheelchair	Para	Distance	Est. Start Time	Est. Finish Time	Mileage Fee	Stop Fee	Para Fee	Year 1 Daily Total	Routes per Week	Weekly Cost
BTC#1-AM	T-TH	Type III	1	2	Ν	N	7.6	7:34 AM	7:45 AM	30.00	0.00	0.00	30.00	3	90.00
BTC#1-PM	T-TH	Type III	1	2	N	N	7.8	12:00 PM	12:11 PM	30.00	0.00	0.00	30.00	3	90.00
CON#1-AM	M-F	Type III	1	2	Ν	Ν	0.9	7:32 AM	7:35 AM	30.00	0.00	0.00	30.00	5	150.00
CON#1-PM	M-F	Type III	1	2	N	N	0.9	2:25 PM	2:28 PM	30.00	0.00	0.00	30.00	5	150.00
CON#2-AM-ONLY	M-F	Type III	1	2	Ν	N	30.3	6:49 AM	7:30 AM	85.25	0.00	0.00	85.25	5	426.25
COR#1-AM	M-F	Type III	2	3	Ν	N	4.1	7:25 AM	7:35 AM	30.00	10.00	0.00	40.00	5	200.00
COR#1-PM	M-F	Type III	2	3	Ν	Ν	4.6	2:20 PM	2:35 PM	30.00	10.00	0.00	40.00	5	200.00
COR#2-AM	M-F	Type III	1	2	Ν	Ν	9.4	7:20 AM	7:35 AM	30.00	0.00	0.00	30.00	5	150.00
COR#2-PM	M-F	Type III	1	2	Ν	Ν	9.6	2:20 PM	2:34 PM	30.00	0.00	0.00	30.00	5	150.00
CV#1-AM	M-F	Type III	3	5	Ν	N	8.1	7:12 AM	7:30 AM	30.00	30.00	0.00	60.00	5	300.00
CV#1-PM	M-F	Type III	3	5	Ν	Ν	7.9	2:20 PM	2:41 PM	30.00	30.00	0.00	60.00	5	300.00
ECSE#1-AM	M-F	Type III	3	4	Ν	N	7.8	8:38 AM	8:55 AM	30.00	20.00	0.00	50.00	5	250.00
ECSE#1-PM	M-F	Type III	6	7	Ν	N	9.9	3:00 PM	3:41 PM	30.00	50.00	0.00	80.00	5	400.00
ECSE#2-AM	M-F	Type III	4	5	Ν	N	8.6	8:01 AM	8:25 AM	30.00	30.00	0.00	60.00	5	300.00
ECSE#2-PM	M-F	Type III	3	5	Ν	Ν	8.4	3:05 PM	3:16 PM	30.00	30.00	0.00	60.00	5	300.00
ECSE#3-AM	M-F	Type III	1	2	N	N	3.4	9:15 AM	9:25 AM	30.00	0.00	0.00	30.00	5	150.00
EHS#1-AM	M-F	Type III	3	4	Ν	N	18.7	7:39 AM	8:20 AM	52.25	20.00	0.00	72.25	5	361.25
EHS#1-PM	M-F	Type III	3	4	N	N	19.6	3:10 PM	3:48 PM	55.00	20.00	0.00	75.00	5	375.00
EHS#2-AM	M-F	Type III	1	2	N	N	11.1	8:04 AM	8:20 AM	33.00	0.00	0.00	33.00	5	165.00
EHS#2-PM	M-F	Type III	1	2	Ν	N	12.2	3:10 PM	3:32 PM	35.75	0.00	0.00	35.75	5	178.75
EHS#3-AM	M-F	Type III	2	4	N	N	10.9	8:03 AM	8:20 AM	30.25	20.00	0.00	50.25	5	251.25
EHS#3-PM	M-F	Type III	2	4	N	N	11.5	3:10 PM	3:33 PM	33.00	20.00	0.00	53.00	5	265.00
EHS#4-AM	M-F	Type III	3	4	N	N	15.4	7:40 AM	8:20 AM	44.00	20.00	0.00	64.00	5	320.00
EHS#4-PM	M-F	Type III	3	4	Ν	N	17.1	3:10 PM	3:53 PM	49.50	20.00	0.00	69.50	5	347.50
EHS#5-AM	M-F	Type III	1	2	Ν	N	10	8:06 AM	8:20 AM	30.00	0.00	0.00	30.00	5	150.00
EHS#5-PM	M-F	Type III	1	2	N	N	11.1	3:22 PM	3:43 PM	33.00	0.00	0.00	33.00	5	165.00
EHS#6-AM	M-F	Type III	1	3	Ν	N	9.9	7:56 AM	8:20 AM	30.00	10.00	0.00	40.00	5	200.00
EHS#6-PM	M-F	Type III	1	3	N	N	9.9	3:15 PM	3:39 PM	30.00	10.00	0.00	40.00	5	200.00
EHS#7-PM-ONLY	M-F	Type III	2	3	Ν	N	10.1	3:15 PM	3:59 PM	30.25	10.00	0.00	40.25	5	201.25
EHS#8-AM	M-F	Type III	1	2	Ν	N	28.6	7:30 AM	8:20 AM	79.75	0.00	0.00	79.75	5	398.75



EHS#8-PM	M-F	Type III	2	4	Ν	Ν	32.8	3:10 PM	3:51 PM	90.75	20.00	0.00	110.75	5	553.75
FV#1-AM	M-F	Type III	1	2	N	Ν	11.9	8:06 AM	8:25 AM	33.00	0.00	0.00	33.00	5	165.00
FV#1-PM	M-F	Type III	1	2	N	Ν	11.6	3:00 PM	3:21 PM	33.00	0.00	0.00	33.00	5	165.00
HESV#1-AM	M-F	Type III	1	2	N	Ν	9.3	7:21 AM	7:35 AM	30.00	0.00	0.00	30.00	5	150.00
HESV#1-PM	M-F	Type III	2	4	Ν	Ν	12	3:58 PM	4:22 PM	33.00	20.00	0.00	53.00	5	265.00
HL#1-AM	M-F	Type III	1	2	Ν	Ν	11.5	7:15 AM	7:35 AM	33.00	0.00	0.00	33.00	5	165.00
HL#1-PM	M-F	Type III	1	2	N	Ν	11.8	2:25 PM	2:45 PM	33.00	0.00	0.00	33.00	5	165.00
MH#1-PM	M-F	Type III	1	2	Ν	Ν	11.6	2:25 PM	2:40 PM	33.00	0.00	0.00	33.00	5	165.00
NEC#1-AM	M-F	Type III	2	4	Ν	Ν	18.5	8:19 AM	8:45 AM	52.25	20.00	0.00	72.25	5	361.25
NEC#1-PM	M-F	Type III	2	4	Ν	Ν	16.8	3:25 PM	3:50 PM	46.75	20.00	0.00	66.75	5	333.75
PS#1-AM	M-F	Type III	4	5	N	Ν	17.8	7:50 AM	8:30 AM	49.50	30.00	0.00	79.50	5	397.50
PS#1-PM	M-F	Type III	4	5	Ν	Ν	18.3	2:30 PM	3:02 PM	52.25	30.00	0.00	82.25	5	411.25
SEC#1-AM	M-F	Type III	2	3	Ν	Ν	5.1	7:42 AM	7:55 AM	30.00	10.00	0.00	40.00	5	200.00
SEC#1-PM	M-F	Type III	3	4	N	Ν	6.7	2:35 PM	2:50 PM	30.00	20.00	0.00	50.00	5	250.00
SEC#2-AM	M-F	Type III	2	4	Y	Ν	5.8	7:42 AM	7:55 AM	50.00	20.00	0.00	70.00	5	350.00
SEC#2-AM	M-F	Type III	1	2	Ν	Ν	1.8	7:40 AM	7:55 AM	30.00	0.00	0.00	30.00	5	150.00
SEC#2-PM	M-F	Type III	3	5	Ν	Ν	12.8	2:30 PM	3:19 PM	35.75	30.00	0.00	65.75	5	328.75
SEC#2-PM	M-F	Type III	1	2	Ν	Ν	1.7	2:25 PM	2:40 PM	30.00	0.00	0.00	30.00	5	150.00
SEC#4-AM	M-F	Type III	2	3	Ν	Ν	7.3	7:29 AM	7:45 AM	30.00	10.00	0.00	40.00	5	200.00
SEC#4-PM	M-F	Type III	2	4	Ν	Ν	9.5	2:35 PM	3:03 PM	30.00	20.00	0.00	50.00	5	250.00
SEC#5-AM	M-F	Type III	1	6	Y	Y	14.8	9:15 AM	9:45 AM	50.00	40.00	50.00	140.00	5	700.00
SEC#5-PM	M-F	Type III	1	6	Y	Y	13.6	2:30 PM	3:10 PM	50.00	40.00	50.00	140.00	5	700.00
SV#1-AM	M-F	Type III	1	2	Ν	Ν	11.4	8:40 AM	9:00 AM	33.00	0.00	0.00	33.00	5	165.00
SV#1-PM	M-F	Type III	1	2	Ν	Ν	11.1	4:00 PM	4:16 PM	33.00	0.00	0.00	33.00	5	165.00
SV#2-AM	M-F	Type III	1	2	Ν	Ν	9.7	8:46 AM	9:00 AM	30.00	0.00	0.00	30.00	5	150.00
SV#3-AM	M-F	Type III	2	3	N	Ν	17.1	8:40 AM	9:15 AM	49.50	10.00	0.00	59.50	5	297.50
SV#3-PM	M-F	Type III	2	3	Ν	Ν	21.7	4:00 PM	4:49 PM	60.50	10.00	0.00	70.50	5	352.50
VV#1-AM	M-F	Type III	2	3	Ν	Ν	7.6	8:52 AM	9:15 AM	30.00	10.00	0.00	40.00	5	200.00
VV#1-PM	M-F	Type III	3	4	Ν	Ν	16.2	4:00 PM	4:28 PM	46.75	20.00	0.00	66.75	5	333.75
VV#2-AM	M-F	Type III	4	5	Y	Ν	7.5	8:55 AM	9:25 AM	0.00	0.00	0.00	0.00	5	0.00
VV#2-PM	M-F	Type III	4	6	Y	Ν	6.2	4:00 PM	4:17 PM	0.00	0.00	0.00	0.00	5	0.00
VV#3-AM	M-F	Type III	2	3	N	Ν	12.9	8:49 AM	9:15 AM	35.75	10.00	0.00	45.75	5	228.75
VV#3-PM	M-F	Type III	2	3	N	N	6.6	4:00 PM	4:14 PM	30.00	10.00	0.00	40.00	5	200.00
VV#4-AM	M-F	Type III	1	2	Ν	Ν	12.5	8:46 AM	9:15 AM	35.75	0.00	0.00	35.75	5	178.75



VV#4-PM	M-F	Type III	1	4	Ν	Ν	38	4:00 PM	5:50 PM	104.50	20.00	0.00	124.50	5	622.50
VV#5-AM	M-F	Type III	1	2	Ν	Ν	15.7	8:51 AM	9:15 AM	44.00	0.00	0.00	44.00	5	220.00
VV#5-PM	M-F	Type III	1	2	Ν	Ν	16.2	4:00 PM	4:30 PM	46.75	0.00	0.00	46.75	5	233.75
WEC#1-AM	M-F	Type III	1	2	Ν	Ν	6	11:16 AM	11:25 AM	30.00	0.00	0.00	30.00	5	150.00
WEC#1-PM	M-F	Type III	1	2	Ν	Ν	6.2	2:55 PM	3:11 PM	30.00	0.00	0.00	30.00	5	150.00
WEC#2-AM	M-F	Type III	3	4	Ν	Ν	13.4	7:54 AM	8:20 AM	38.50	20.00	0.00	58.50	5	292.50
WEC#2-PM	M-F	Type III	3	4	N	Ν	12.6	3:05 PM	3:30 PM	35.75	20.00	0.00	55.75	5	278.75
WEC#3-AM	M-F	Type III	1	2	N	N	12.4	8:12 AM	8:30 AM	35.75	0.00	0.00	35.75	5	178.75
WEC#3-PM	M-F	Type III	1	2	N	N	13.4	3:00 PM	3:17 PM	38.50	0.00	0.00	38.50	5	192.50



## **Transportation Plus, Inc**

5010 Hillsboro Ave N New, MN 55428 612-888-8888

# Additional Information

Student Transportation RFP

Edina Schools (2025)

# Company Summary

Fleets operating under Transportation Plus, Inc. include Airport Taxi, iHail and T-Plus. All vehicles are marked with Transportation Plus stickers and logos and all entities operate as a single provider of Taxi, Medical Transport, Paratransit, Micro Transit and Student Transportation Services in the Twin Cities Metro Area.

We service the 7-county Metro area and our technology platform allows customers to book and access rides via phone, text, email, online, and via our app 24/7/365. We have over 450 vehicles (325 minivans, 100 sedans and over 35 wheelchair accessible vehicles) and are twice the size of our next closest competitor. All of our vehicles are insured under a commercial fleet policy and our call center is 24/7/365.

We provide Non-Emergency Medical Transportation (NEMT) for all the major health plans including UCare, Medica, BlueCross, Hennepin Health, and HealthPartners and have been the sole contracted provider for Metro Mobility's POD, PSD and PDO programs since 2004. We have over 1,800 corporate accounts, including nearly every major corporation in Twin Cities.

We provide over 20,000 rides per week. We have order mass to support the fleet and the fleet to support the order mass. As a company, we billed over \$20 million in contracted sales in 2024.

# Type III School Bus Experience

We have been doing school transportation for over 30 years and currently provide Type III Transportation to over 10 school districts. For the 2023-2024 school year we provided 90,000 Type III (School Bus) rides equating to over 130,000 pickups/drops.

We have a School Team that is dedicated solely to Type III orders/accounts. A school team member is available M-F from 6 AM to 6 PM by calling 612-888-8080 or by email (<u>schools@tplusride.com</u>). Outside of these hours, calls forward to our general call center.

One-off or urgent ride requests can be entered online by the School/District, while rides with reoccurring nature get communicated to our School Team for routing. We use a 3<sup>rd</sup> party platform that optimizes routes on a daily basis. We have the ability to assign drivers to specific routes and/or to add or remove kids to a trip.

We provide daily No Load Reports each day around noon and timeliness summaries of the previous day's rides each morning.

Currently we have 232 Active Type III Vehicles

- Minivan (7-Passenger) 126
- SUV (5-Passenger) 39
- Sedan (5-Passenger) 59
- Wheelchair (2-Passenger) 8

# Key Personnel

### Steve Pint – President/CEO

Steve became part of the Transportation Plus ownership group in 1996. Under his management, the fleet has grown over 5-times the size and business levels have increased from 200,000 trips a year to 1.4 million (pre-pandemic peak). Steve has been heavily involved in transforming Transportation Plus from a taxi service only to a full-service transportation provider that is recognized industry wide as a leader in technology and contracted transportation.

### Michelle Reinke – Vice President/Chief Financial Officer

Michelle started with Transportation Plus as a customer service representative when she was in her teens. She has been with the company now for over 30 years and has been involved in managing all aspects of the company. She has been instrumental in promoting a driver-oriented environment allowing our independent contractor drivers to flourish and succeed.

### Tom Anderson – Contract/Accounts Manager

Tom has been with Transportation Plus since 2007 and manages our sales, marketing, accounts and contracted transportation. Tom has developed strong relationships with every one of our accounts and contracts which includes major corporations, managed care organizations, healthcare systems, government agencies, school districts and small businesses. Tom has been a key player in furthering the development of our technology platform and deploying it across all business types.

### Robin Gray – School Team Manager

Robin has been with Transportation Plus since 2019. Her background is primarily logistics. She manages all of the rides/routes and drivers to ensures students arrive to school or home safely and expediently. Her team sets up routes and assigns them to available drivers. She also responsible for the Type III driver training and monitors compliance of the drivers that are on the school team.

### Isabelle (Izzy) Bjork –School Coordinator/Driver Services

Izzy has been with Transportation Plus since 2018 and has had many roles during her tenure with our organization. She assists the School Team Manager (Robin) in all of her duties

#### Jenn Sievers – STS Manager

Jenn has been with Transportation Plus since 2009 and has many roles with our organization. Her chief responsibility currently is managing our driver contracts and STS licensing requirements.

### Andrea Wiliams – Driver Services Manager

Andrea has been with Transportation Plus for over 3 years. She is our driver liaison. All questions/issues a driver may have go through Andrea an she is also responsible with follow-up on driver complaints and procedural issues.

#### Blake Dooner – Service Manager

Blake has been with Transportation Plus since 1998 and oversees all vehicle services and the employees which includes 480 vehicles, a service writer, 3 mechanics, and an equipment installer. He manages all third-party inspections for the fleet which includes MNDOT and the Commercial Vehicle division of the State Patrol. He also certified by the City of Minneapolis to perform taxi and TNC vehicle inspections at our facility in New Hope.

# Type III School Bus - Drivers

Reference Appendix D for a list of our current Type III School Bus Driver roster. Drivers are added and removed from the roster on a weekly basis. We will provide an updated driver roster upon request.

The State's <u>Type III</u> Driver training/requirements/certification is separate than that of State's <u>STS</u> Driver training/requirements/certification, but many of the requirements overlap. Because of the high volume of NEMT work we do, we require **all drivers to be STS certified**.

Drivers that provide Type III service are STS Certified <u>and</u> Type III certified. Below are the requirements of the Type III driver certification. (Where the certification overlaps with STS certification is noted in red).

## Type III Driver Training

(Annual) 8 hours of training covering following topics:

- Cellular Telephone Use/Text Messaging
- DWI/DUI Driver Disqualifications
- Driver Disqualifications for Moving Violations
- Understanding Student Behavior/Disabilities
- Student Conduct & Misbehavior
- Safely Load & Unload Students
- How to Handle Emergency Situations
- Safely Operate a Type III School Bus
- Understand the Rules of the Road and Minnesota traffic laws

### Type III Driver Requirements

- Type III Vehicle behind the wheel evaluation
- Type III driver evaluation certificate
- Annual Drug Test 50% of the fleet has a random draw on a quarterly basis
- Annual Criminal Background check See STS Background Check
  - o If driver's not been in Minnesota for 5 years, a national background check is required
- Bi-annual inspection of driver's motor vehicle record See STS Diver Requirements
- Valid Minnesota Drivers' License See STS Diver Requirements
- DOT Physical See STS DOT Physical
- School Medical Kit
  - A kit is assigned to each Type III driver
  - Each kit contains the following:
    - First Aid Kit
    - Spill Kit
    - Fire Extinguisher
    - Seatbelt Cutter

## STS Driver Requirements

All prospective drivers have their motor vehicle record pulled prior to contracting with Transportation Plus. Our organization does <u>not</u> contract with any individual/driver who:

- Does not process a current Minnesota Driver's License
- Is under the age of 18.
- Has more than two moving violations on Motor Vehicle Record for past 5 years
- Has any Alcohol Convictions (DUI/DWI) or implied consent markers in past 10 years
- Has any markers in their NETStudy2.0 background check (see *Background Check* below)

Once contracted, each driver's motor vehicle record is continuously monitored using a third-party vendor who pulls from the States database on a daily basis. Should a new item be added to their motor vehicle record a notification is sent to Transportation Plus's Management Team for review and any action should it be deemed necessary.

## STS Background Check

All drivers have a MN Department of Human Services NETStudy.2.0 background check which includes a review of criminal history information maintained by the Minnesota Bureau of Criminal Apprehension, records of substantiated maltreatment of a child or vulnerable adult, and other applicable records. Additionally, fingerprints of the background study subject are obtained to conduct a Federal Bureau of Investigation (FBI) record check

All MNDHS employment-type background studies also include:

- Records of substantiated maltreatment of vulnerable adults and minors from investigations completed by:
  - Minnesota county adult and child protection units.
  - The Minnesota Department of Human Services, Licensing Division.
  - The Minnesota Department of Health (MDH), Office of Health Facilities Complaints.
- Automated updates of Minnesota maltreatment data from the above sources.
- Automated notices from the Minnesota Court Information System (MNCIS).
- Registry checks completed by the entity submitting the background study. The registries are: The Minnesota Nurse Aide Registry (negative actions), the federal List of Excluded Individuals and Entities (LEIE), and the Minnesota list of excluded individuals.
- Automated updates of the provider registries.

### STS DOT Physical

As part of the STS certification process, <u>all</u> our drivers have a valid medical examiner's certificate (DOT card) which is good for two years. The bi-annual physical exam includes vision, hearing and blood pressure requirements, as well as an exam to detect health issues that could affect driving ability.

## STS Driver Training

STS training is done online. Content was developed by an STS certified instructor and has been approved by MNDOT. All drivers in our organization go through upfront and/or receive ongoing NEMT/STS (Special Transportation Services) training that includes:

- First Aid 4 hours training every 3 years
- Abuse Prevention 4 hours training every 3 years
- Passenger Assistance 8 hours training every 3 years
- Defensive Driving 4 hours training every 3 years
- Wheelchair drivers only Securement Training

### Zero Tolerance

Transportation Plus, Inc has Zero Tolerance Policy. Any driver considered to be under the suspicion of alcohol or controlled substances is subject to taking a drug test before being allowed to transport any passenger and only allowed back once a negative result is confirmed between the testing facility and the third-party vendor who manages our drug program. Should a driver be accused of being under the influence, we shall temporarily suspend the driver until completes and passes a drug/alcohol test. Refusal to take a test is considered the same as a failed test and the driver will be terminated

### Driver Behavior & Dress Code

All drivers performing services shall always conduct themselves professionally. <u>Drivers will not be</u> <u>uniformed</u>, but will wear a lanyard at all times that notes their name, picture, Driver ID and certification status. (See same ID card below.)



# Type III School Bus - Vehicles

Reference Appendix E for a list our current list of Type III vehicles. Vehicles are added/removed from the list monthly. We will provide an updated list upon request.

## Transportation Plus, Inc DOT Number

01501286

## **DOT STS Inspections**

MNDOT comes to our facility 8-10 times a year for inspections. <u>All</u> our vehicles go through the STS inspection at some point during the year. Vehicles are given a pass or fail (in-service or out-of-service) designation. Vehicles that pass are stickered with STS certification. For vehicles that fail (which there are very, very few) our Service Manager is given the opportunity to make the repair(s) or can choose to remove the vehicle from the inspection list. Most repairs are minor and the vehicles is run through the inspection the same day.

Each vehicle that passes inspection receives a sticker like the one below (driver's side front window).



Vehicles that fail, but are not repaired on site receive a sticker like the one below and cannot perform any Type III service.



Figure 2 Exterior View

Upon request, we can provide a report for any wheelchair vehicle, as all our vehicles go through the STS inspection, but we will not provide a report of every vehicle.

## Vehicle Maintenance

### Vehicle Files

Each vehicle in our fleet has a digital folder (file) of every action related to the vehicle including, but not limited to the pre-delivery inspection, (maintenance) work orders/receipts, repairs made by our shop or any other, and STS/Type III inspection results. This information accessible on a per vehicle basis.

### Pre-delivery Inspection

Prior to being used for public transportation, each vehicle undergoes an extensive pre-delivery inspection and applicable repairs as deemed necessary. Inspection emphasis includes, but is not limited to, belts and hoses, fluids, brakes, tires, lights, heating and cooling equipment, restraints, suspension, and vehicle appearance.

### **Daily Pre-Trip Inspections**

Each day, upon logging in to our dispatch system, drivers are prompted by their tablet (dispatch device) to perform a general visual inspection of their fluids, lights & turn signals, tires, wipers, and mirrors and must answer a series of questions regarding their visual condition.

#### Scheduled Maintenance

All vehicles are serviced every 3,500miles. Service includes an oil change and a 30-point inspection of, but not limited to, the driver controls, interior and exterior lights, tire conditions, fluid levels, and restraints.

### **Annual Vehicle Inspections**

Each vehicle receives a thorough annual inspection. Our shop used the same inspection report the City of Minneapolis uses. Points of emphasis for this inspection include:

- Belts, Hoses & Lubricants
- Pollution Control & Fuel System
- Engine Analysis
- Drive Train
- Exhaust System
- Steering
- Braking System
- Suspension/Frame

#### Vehicle Repair

If a defect or problem is ever detected in any of the above inspections, a work order will be created for pertinent repair(s). In most cases, work will be performed by the Transportation Plus Inc. shop. All necessary repairs noted on the work order must be completed before that vehicle is allowed to take another order. Should work be done by another repair shop, corresponding proof of payment for services rendered must be submitted to our Shop Manager.

# Type III School Bus - Additional Information

## Dispatch System (GPS)

All orders go through our dispatch system (MTI) and pricing is "pushed" to the driver. Routed orders are assigned to drivers and OnDemand requests are dispatched to the closest vehicle to the pickup address 10-30 minutes ahead of the pickup time. MTI includes turn-by-turn directions for the driver and provides real-time GPS coordinates of the vehicle's location. Every action about an order is time-stamped and vehicle GPS coordinates and speed are recorded every 30-seconds.

## Cameras

Reference Appendix A for the spec sheet for the camera.

All vehicles are equipped with a Suamsura Dual Facing Al Dash Camera. Harsh Events and Driver "panic" recordings are saved indefinitely. The most recent 60-hours of drive time are retained and can be saved indefinitely upon request within that time period.

Upon request we will can share video via email.

## **Communication Tools**

### No Load Report

Reference Appendix B for a sample No Load Report.

Each school day @ 12:15 PM we email a No Load report that identifies each student that we were scheduled transport, but did not pickup. We will automatically cancel that student's PM ride unless alerted by the district to keep the PM ride for that student.

The report will indicate the number of consecutive no loads for the student as well as the total number of no loads for the student for the current school year.

### Timeliness & Order Summary

Reference Appendix C for a sample Timeliness & Order Summary Report.

Each morning around 6:00 AM, a report is emailed detailing the overall timeliness for the previous day's rides and lists the order status for each student from the previous day's transports.

### eRide (online booking and vehicle tracking)

eRide is a 3rd party plug-in application to our dispatch system and is web based. It allows users to enter orders directly into our dispatch system or even import orders in batch/bulk mode. The site also allows users easily monitor ride statuses.

### Track my Ride (www.tplusride.com)

Our website has a tab parents can use to track the ride status. They simply go www.tplusride.com and click on the My Ride Status tab and then plug in the phone number associate with their child's ride. The

tracking is tied into eRide which communicates with dispatch system (MTI) to provide real time order updates.

#### Text alerts

### Reminder Texts

Each night our texting platform will send out reminders to the phone number on the order of the next day's appointment pickup time(s). Recipients of this message will have the opportunity to cancel their ride if it is no longer needed. Recipients can opt out of this alert by texting the word "STOP" or reactivate the alerts by sending the word "SEND".

T-Plus Ride #12345678 ordered via VA Hospital will arrive 5/15/2025 @ 1:00 PM. PU @ 3315 Adair Ave N, New Hope. If ride is no longer needed, text CANCEL. Text STOP to unsubscribe.

### Text-on-accept

Once a driver accepts an order, the phone number on the order will receive a text noting the vehicle number along with a tracking URL they can tap to track the vehicle's location.

T0412 has been dispatched and will arrive soon. Go to http://.taxi-track.mti.com1QL556 to track your ride. If ride is no longer needed, text CANCEL.

#### Call-on-approach

When a vehicle gets withing 200-yards of the pickup address, the phone number on the order will receive an automated phone call alerting them that the vehicle will be arriving shortly.

#### Customer Experience Rating

For each completed ride, the passenger receives a *text-on-complete* where the passenger can "Rate their driver" by clicking the hyperlink within the text. (see below)

Text on (	Text on Complete									
	Thank you for using T-Plus! Go to: http://taxi-track.mti.com/11qLb6uscf									
to r	ate your dri ly to this me	ver. Please								
Rate Your Driver Hyperlink										
	Ple	ase rate your dr	river.							
	**			4						
		ve our service, o main reason for								
Driver Hygiene Did not Follow Rude Driver										
	Car Quality Late Arrival Over Charged									
Submit										

## Emergency and Incident Response

Drivers all have a company issued tablet and a (personal) cell phone. Drivers and Dispatchers can communicate through prompted messages through the tablet or via cell phone.

Based on the urgency of a situation, Dispatchers will communicate issues to the Management and/or School Team via email, text or phone call.

We have different response protocols depending on the type of emergency/incident.

### Trip Issues

Drivers have a hotline they can call with any issue, but we encourage them to send canned messages through our dispatch system as we can reply to the canned message more efficiently that we can process a phone call. Our driver hotline rings directly into our Dispatch Center and is answered in the order in which it was received.

### Customer Issue

If there is an emergency in the vehicles due to health or behavior, drivers will contact dispatch directly to report the issue

### Accident Protocol

- Driver shall obtain pertinent information
  - Injuries? If so, who and what
  - Where & when the accident happened
    - Time
    - Location (cross streets & city)
  - Description of the event
- Driver shall contact Dispatch via driver hotline
- Dispatcher Responsibilities
  - Contact Police/911 to report scene.
  - Connect driver to Transportation Plus Risk Manager
  - Determine if vehicle is safe. If it is deemed unsafe, follow *Mechanical Breakdown Protocol*
- Risk Manager Responsibilities
  - o If there is an injury, contact Account's key contact (if applicable)
  - Inform the driver of the need to be drug tested
    - Drug and Alcohol Testing Sites:
      - Northworks Occupational Health 4048 Broadway Ave Robbinsdale, MN 55422 (763) 398-8888
      - Airport Medical Clinic
        7550 34<sup>th</sup> Ave S
        Minneapolis, MN 55450
        (612) 727-1167

• Alert driver that an accident report needs to be completed with Risk Manager within 24hours of the accident.

### **Dispatch System Disruption**

It's extremely rare, but should our dispatch system fail, Dispatcher shall voice-dispatch all orders and then manually enter pertinent order information at a later time.

### Mechanical Breakdown Protocol

- Driver shall contact dispatch via Driver hotline
- Dispatch will coordinate immediate pick-up of customer with the closest available vehicle to the broken-down vehicle.
- Generally, another vehicle will arrive within 10-20 minutes.
- Dispatch will arrange a tow of the disabled vehicle.

## Appendix A

## Samsara Dual-facing AI Dash Camera



Dec 07, 8:35am - Harsh Event



### Video Capture

Front-Facing Camera

- 1080p (Full HD) video
- 121° field of view for full view of road
- HDR to optimize bright and low light conditions

Driver-Facing Camera (Promotes Safety)

- 720p (HD) video
- 177° field of view for full view of road
- Infrared LED for unlit nighttime in-vehicle video

### **GPS** Tracking

Tracks route, location, speed and direction of vehicle and saves historical data of trips

### Built-in Audio Speaker

Voice Coaching - Speaker provides voice-based feedback alerts during unsafe driving Audio Capture – provides context for incidents/disputes

### Recordings

Harsh Events – Harsh braking, acceleration, turning and crashes are automatically detected by building in accelerometer. Camera auto-uploads footage from 5-seconds before to 5-seconds after each harsh driving event.

Periodic Images – Still images captured every 2-minutes while vehicle is in-motion. Adds visual context to GPS tracking

Panic Button – allows drivers to automatically sends alerts and upload footage during potential emergencies by pushing panic button

### Transfer Data and Logging

Automatic Uploads to Cloud – past 60-hours of driving time available

# Appendix B

## Daily No Load Report

										No load	ds
GO Ride	<b>RETURN</b> Ride	Student Name	Result	Pickup time	Pickup address	Drop Place	Drop address	Route	Driver	Consecutive	Total
23574728	23574491	FIRST LAST	No Load	6:30 AM	7780 Flying Cloud Dr	Osseo High School	317 2nd Ave Nw	246538	3368	2	22
23574727	23574433	FIRST LAST	Cancel	6:38 AM	86 Big Circle Dr	Park Center Senior High	7300 Brooklyn Blvd	246570	4512	1	96
23574719	23574471	FIRST LAST	No Load	6:40 AM	3832 3rd Street Northeast	Maple Grove High School	9800 Fernbrook Ln N	246572	4656	1	43
23574708	23574485	FIRST LAST	No Load	6:46 AM	1811 Emerson Ave N	Osseo High School	317 2nd Ave Nw	246672	6442	2	47
23574708	23574485	FIRST LAST	No Load	6:46 AM	1811 Emerson Ave N	Osseo High School	317 2nd Ave Nw	246672	6442	2	47
23574709	23574445	FIRST LAST	Cancel	6:46 AM	5325 Orleans Ln N	Park Center Senior High	7300 Brooklyn Blvd	246559	6447	1	29
23574710	23574428	FIRST LAST	No Load	6:46 AM	1017 North Humboldt Avenue	Park Center Senior High	7300 Brooklyn Blvd	246564	4977	1	19
23574704	23574235	FIRST LAST	No Load	6:48 AM	3207 Girard Ave N	Park Center Senior High	7300 Brooklyn Blvd	246540	5141	1	32
23574704	23574488	FIRST LAST	Cancel	6:48 AM	2941 France Ave N	Park Center Senior High	7300 Brooklyn Blvd	246540	5141	1	42
23574705	23574235	FIRST LAST	No Load	6:48 AM	1846 Central Ave Ne	Park Center Senior High	7300 Brooklyn Blvd	246552	6395	1	25
23574707	23574443	FIRST LAST	Cancel	6:48 AM	10719 Monroe Dr Ne	Osseo High School	317 2nd Ave Nw	246598	3681	1	27
23574697	23574477	FIRST LAST	Cancel	6:53 AM	7018 North Irving Avenue	Osseo High School	317 2nd Ave Nw	246634	4512	1	2
23574698	23574474	FIRST LAST	No Load	6:53 AM	10020 Dogwood Street	Park Center Senior High	7300 Brooklyn Blvd	251869	6168	1	1
23574696	23574460	FIRST LAST	No Load	6:55 AM	11505 Pineridge Way North	Osseo High School	317 2nd Ave Nw	246524	5132	2	17
23574691	23574439	FIRST LAST	No Load	6:58 AM	4318 Girard Ave N	Osseo High School	317 2nd Ave Nw	246546	4988	2	12
23574666	23574369	FIRST LAST	No Load	7:20 AM	139 Arlington Ave E	North View Middle School	5869 69th Ave N	246536	4480	2	45
23574668	23574408	FIRST LAST	No Load	7:20 AM	5240 W Broadway Ave	Maple Grove Middle School	7000 Hemlock Ln N	251868	5222	1	23
23574649	23574392	FIRST LAST	Cancel	7:33 AM	6908 68th Ave N	Osseo Middle School	10223 93rd Ave N	246533	6058	1	2
23574653	23574371	FIRST LAST	No Load	7:33 AM	7011 Northland Cir N	Maple Grove Middle School	7000 Hemlock Ln N	246585	4988	1	22
23574639	23574255	FIRST LAST	Cancel	7:36 AM	6421 83rd Ct N	Headway Emotional Health	1001 Hwy 7	246549	6317	1	22
23574622	23574372	FIRST LAST	No Load	7:42 AM	7521 Jersey Ave N	Maple Grove Middle School	7000 Hemlock Ln N	246593	4512	2	5
23579363	23574369	FIRST LAST	No Load	7:45 AM	5240 Drew Ave N	North View Middle School	5869 69th Ave N	246558	4977	1	2
23574602	23574354	FIRST LAST	No Load	7:50 AM	4020 Nawadaha Blvd	Ann Bremer Education Center	6601 Xylon Ave N	245224	6464	3	14
23574573	23574300	FIRST LAST	No Load	8:10 AM	2380 Ariel Street	North Education Center	5530 Zealand Ave N	245221	5547	1	55
23574574	23574301	FIRST LAST	No Load	8:10 AM	1505 Jackson St	North Education Center	5530 Zealand Ave N	245222	6237	>3	28
23574576	23574496	FIRST LAST	No Load	8:10 AM	1501 Amy Lane	Ann Bremer Education Center	6601 Xylon Ave N	245223	6476	1	15
23574571	23574291	FIRST LAST	No Load	8:13 AM	6909 68th Ave N	Osseo Area Learning Center	7300 Boone Ave N	246600	6293	1	2
23574507	23574253	FIRST LAST	No Load	9:03 AM	7521 Jersey Ave N	Oak View Elementary School	6710 E Fish Lake Rd	246581	4977	1	3
23574669	23574409	FIRST LAST	Cancel	7:20 AM	1821 Mechanic Ave	Maple Grove Middle School	7000 Hemlock Ln N	246666		1	15
23574624	23574383	FIRST LAST	Late Cancel	7:40 AM	1350 Nicollet Mall	Maple Grove Middle School	7000 Hemlock Ln N	246565	4525	1	41
23574608	23574388	FIRST LAST	Cancel	7:47 AM	7611 36th Ave N	North View Middle School	5869 69th Ave N	246562		1	15
23574603	23574378	FIRST LAST	Cancel	7:50 AM	12400 Gettysburg Ave N	Osseo Transitions	324 6th Ave Ne	246553		1	6
23574591	23574422	FIRST LAST	Cancel		8273 Zane Ct N	Fairview Clinic	2960 Winnetka Ave N	245213		1	18
23574581	23574313	FIRST LAST	Late Cancel	8:10 AM	1619 Maryland Ave E	Osseo Area Learning Center	7300 Boone Ave N	246527	6124	1	101

# Appendix C

## Daily Timeliness & Order Summary Report

2505	07 - Timeliness	Sun	nmary												
AM Summa	ry .		AM Timeline	iss (Per Route)	*		Running%	PN	MSumma	TV.		PMTimeline	ss (Per Route)	%	Running9
3	Student Ride Requests	1	3	On-time	100.0%		100.0%		3	Student Ride Requests		2	On-time	100.0%	100.0%
2	Students Transported		0	5-15 Minutes	0.0%		100.0%		2	Students Transported		0	5-15 Minutes	0.0%	100.0%
1	Student No Loaded		0	15-30 Minutes	0.0%		100.0%		0	Students No Loaded		0	15-30 Minutes	0.0%	100.0%
0	Students Cancelled		0	30-45 Minutes	0.0%		100.0%		1	Student Cancelled		0	30-45 Minutes	0.0%	100.0%
3	Routes		0	45-60 Minutes	0.0%		100.0%		3	Routes		0	45-60 Minutes	0.0%	100.0%
0	ASAP Routes		0	over 60 Minutes	0.0%		100.0%		0	ASAP Routes		0	over 60 Minutes	0.0%	100.0%
0	Not Applicable		3						(1)	Not Applicable		2			
3									2						
	Job #	AM/P	Date	Requested Pickup Time	Student	Summary				Arrival vs. Regeusted	Group	Route			Arrival/No Load/Cance
S00482	23574661	AM	05/07/25	7:30 AM	First LastName	Completed			4454	A: On-time	1400	246695	6257 University Ave Ne	Wayzata High School	7:27 AN
S00482	23574327	PM	05/07/25	3:20 PM	First LastName	Completed			5141	A: On-time	1400	246696	Wayzata High School	6257 University Ave Ne	3:03 PM
S00482	23573589	AM	05/07/25	8:35 AM	First LastName	Completed			3565	A: On-time	1400		6301 Quinwood Ln N	Wayzata Central Middle Se	8:12 AM
S00482	23573590	PM	05/07/25	4:15 PM	First LastName	Completed			6254	A: On-time	1400		Wayzata Central Middle S	c 6301 Quinwood Ln N	4:17 PM
S00482	23574683	AM	05/07/25	7:05 AM	First LastName	No Load			5002	A: On-time	1400	245197	540 Broadway Street	Wayzata High School	6:58 AM
S00482	23574282	PM	05/07/25	3:25 PM	First LastName	Cancel			NA	I: Not Applicable	1400	245198	Wayzata High School	540 Broadway Street	10:10 AM

# Appendix D

## Transportation Plus – Type III Certified Drivers

Count	ID	Full Name	Driver License #
1	2429	OKELLO TEKABE	M393180084015
2	2598	HASSAN AHMED	F856023891719
3	2800	LIBAN WARSAME	Y655228007616
4	2893	TUKRI BAAD	G597021700621
5	2948	BASHIR FARAH	T260260602008
6	3026	CLINT HILL	F426001472212
7	3368	FAYSAL SAHAL	D704059105911
8	3425	MOHAMUD ABDULAAHI	Q257100571714
9	3429	CONSTANT TENOU	E725052282914
10	3498	MOHAMED HABIYE	R018131913009
11	3542	SEMIE MERHA	A391051193413
12	3565	TEWELDE MISGINA	V622283189010
13	3566	SAMSON TEFERA	J450147486709
14	3631	TSEHAYE REDAE	C443096614711
15	3681	KENNETH ABAM	T920284569711
16	3723	KAHSAY GEBREAMLAK	X584208171217
17	3821	HUSSEIN OSMAN	Y515261768811
18	3874	PAAPA PAINTSIL	M513115045409
19	3922	YOHANNES TEKIE	X644295273614
20	3934	ABDELFATTAH EZZAID	D374070694314
21	3980	KEN SOWERS	Q907126651116
22	4088	JOHN AKERELE	M053107467908
23	4144	ABYE GEBREKIROS	X474220214315
24	4145	MOHAMED MOHAMED	C683009936417
25	4164	ZERU FANTA	W983238308020
26	4190	SAID NUR	R528117217015
27	4333	ABDI HILOWE	Q107119614908
28	4370	MISHU ABEJE	B192080978912
29	4389	JAMAL HASSAN	G927051358918
30	4406	SHIMI HAILEMARIAM	S899185205926
31	4424	RENATO CARLEVARINO	B852070485815
32	4431	HASSAN MOHAMED	Y785282323920
33	4454	DADDEE KONNEH	H148030627013
34	4460	BONA BEKERE	Q107175334108
35	4464	ABINET MOLTOTE	C573059101915
36	4480	ALWAN ALIYE	H818033963517
37	4493	HAILESLASSIE KASSA	Q677155302820
38	4506	FAHDI OMAR	M263161458511

Count	ID	Full Name	Driver License #
39	4512	MUHAMMED DENTON	L522146527809
40	4525	ROBA ALIYE	R928150593319
41	4587	MUME AHMED	E035099941808
42	4641	ABDI BERKADLE	S949164500722
43	4653	UMAR DIBBA	N524105924211
44	4654	ALAGIE JASSEH	D524043862011
45	4656	HARUNA TOURAY	Y665255816117
46	4711	ASHEBIR GELASSA	X444292815712
47	4714	TAKELE FEYISSA	X414243404009
48	4743	ABDUSELAM MUSSA	D874048730919
49	4759	UMER YUSSUF	H778059336822
50	4816	YUSUPHA JASSY	C193074127913
51	4845	AHMED ABUBEKER	L552100290512
52	4848	ALEMSEGED BERHE	N734180592614
53	4926	ABDULKADIR BAATI	M403185786207
54	4954	MUHAMMED JOBE	A451038858010
55	4961	ESKENDER ADEM	L822100702212
56	4971	ABDUSEMED BUSHUSHO	P616154932813
57	4977	ZEYNUDIN RASHID	R028185368310
58	4979	ARAB OMISAYE	M333134060509
59	4988	MUTAHAR AHMED	N934118703616
60	4998	JAMAL BUTTA	K531134946709
61	4999	ABDO ALIYE	R938110120120
62	5002	ALEMU GEBA	E135038344109
63	5020	YASIN YUSUF	P476106890117
64	5023	MOHAMED SHAFAT	H068088190314
65	5043	MOHAMED ABDULLAHI	R148192766713
66	5045	MOHAMMED UMER	J660114893812
67	5068	FAMARA JARJU	H098047071117
68	5092	GEMECHIS NEGWO	A561043216012
69	5132	MEAZ HAMZA	B292001890113
70	5141	SURAFEL LEGESSE	N944140648617
71	5188	MOHAMED SHONE	K011160093202
72	5213	ABDULMANAN HEBO	X004271899404
73	5222	ALIE CEESAY	Q527181998414
74	5236	ELIYAS ALI	E855022528218
75	5241	SULTAN ERESA	N924161372715
76	5251	MAMMADAMIR FATOO	C093053828612
77	5267	ABDULKARIM BUTTA	M333114718209
78	5279	NASIRADIN GEDALA	R748111833119
79	5293	FAYSAL OLAD	G977057459023
80	5304	SEMIR BESHER	J440198342308

Count	ID	Full Name	Driver License #
81	5326	ABDUSALAM ABDULLAHI	J780166470815
82	5328	ABDI OLAD	B482000549714
83	5345	SABSIB ABADURA	G117068515909
84	5353	MESAY NADEW	S739103155919
85	5358	MUSTAFA GENEMO	X014210493705
86	5359	JACKELINE EGUIA WELCH	F916099677016
87	5387	BUOB PUR	M723184955912
88	5389	SANUSIE BARRIE	H878073253923
89	5409	ZERUK AMIN	G987051933924
90	5417	JAFAR ALIYE	K821198872811
91	5438	<b>GAMACHU CHIKAKI</b>	R418119225713
92	5446	BIRMAJII TASHITE	B642054192112
93	5498	GAROMA CHAFFE	S429154105915
94	5525	WESENAYEHU KEBEDE	D194062699214
95	5535	MOHAMED TILMO	E655064506516
96	5538	HASSAN AYUB	B952091744916
97	5545	AHMED ADEM	J960193832915
98	5547	MOHAMED YOUSSOUF	R398133772520
99	5559	BAHAR MOHAMMED	G087009613215
100	5560	ABDELLA TUFA	Y385229661416
101	5561	ALI AMAN	A000026971300
102	5562	HUSSEN MOHAMED	Y000021331900
103	5579	ABDURAHAMAN HASHIM	W973206362819
104	5583	KOFI BUSIA	S059128165014
105	6022	EUGENE ODURO	Z186221479815
106	6039	GATLUAK MALEK	G067033371813
107	6050	ΗΙΚΟ ΚΕΒΕΤΟ	W743221377414
108	6058	IFAA BAKUTO	D784072187519
109	6073	LENCHO GUYE	Q247128476313
110	6079	FAYISO WAKE	B752015940014
111	6085	SHAMSUDIN OMAR	R828189146618
112	6086	BADRU MUSA	N284117820714
113	6103	ABDURAHIM MUSA	Z236218650911
114	6124	MAGARSA CHAFFE	L112136512504
115	6148	KALIFA ALIY	X114265964906
116	6166	JABRI ADAM	D894033407621
117	6168	MOTI ITICHA	C423058551309
118	6183	ENGDA KIRTO	C000059483100
119	6188	TESFAYE TEKESTE	H348036224615
120	6191	ISMAEL KENTER	P000022200000
121	6211	MURAD ABRAHIM	\$599100509023
122	6214	ABDIKADIR TUFA	Z086234839914

Count	ID	Full Name	Driver License #
123	6217	MOHAMED SHERIFF	P506160482011
124	6218	YUSUF ALI	K331153921107
125	6223	AHMED USMAN	S299185767620
126	6224	MAME TESSO	D000076379900
127	6237	KUMA KABETO	G837077952318
128	6251	SIRAJ ABDELLA	Y000075428900
129	6254	ESKANDER HAJALI	X054255632009
130	6259	RIYAD MAHAMMAD	\$759188307721
131	6263	HENRY KERONGO	W453215291612
132	6270	JAMAL KEBETO	G957091158721
133	6274	ABDELLA MOHAMMED	Q027182896009
134	6275	AFANDI YUSUF	N224170691608
135	6285	EYOB GEBREZGABIHER	Y000068674300
136	6286	SUMAIA ROERS	Q367164450316
137	6293	Jemal Khelil	P616169464313
138	6317	HUSSEIN DUBE	F176096041914
139	6320	BASHI HASAN	Y045297207909
140	6326	CLEMENT MESI	Z056209056311
141	6348	SAMUEL TEKLEAB	B952062548316
142	6349	ABDIAZIZ ELMI	L922156182713
143	6356	Mohamud Warsame	Y000053021100
144	6367	Omot Ochan	X434254718311
145	6368	NADEW MEKURIA	A481050597613
146	6373	PRINCE ZAYZAY	W853260817116
147	6375	Abdu Abdalla	H000005876500
148	6378	NURA ALI	B012087875603
149	6385	Ibrahim Jalloh	G977049567223
150	6395	Ahmed Absuge	\$399153006221
151	6400	Mouktar Bouh	Q237199360512
152	6405	Abdisa Wako	M453194917212
153	6414	KUMA NAGAYO	E935000729917
154	6420	ABDIWELI KULMIYE	M453134800512
155	6423	MANDRELL WILLIAMS	N000054430900
156	6425	Enoch Yarlatee	Z526253889813
157	6442	KIYAR SIRAJ	G707019341114
158	6445	OBSA ALI	D000131841800
159	6450	MUSSE MOHAMED	P000013911700
160	6455	KORANE MOHAMUD	E435068449312
161	6464	Kerealem Mulat	H018082714709
162	6469	Yadata Borana	H888093689324
163	6476	MAJDY ISSA	F926012401217
164	6480	MOHAMED IBRAHIM	H318099350712

Count	ID	Full Name	Driver License #
165	6481	Fousseyni Guindo	G117069003609
166	6490	MAMADI OMER	Q897165633624
167	6497	ABDULKADIR ABDI	B000088908900
168	6501	PHILLIP THOMPSON	S059126459814
169	6502	PETER DIGOLO	Q307131740810
170	6506	BONSU OSEI	L352118116010
171	6511	MICHAEL MILLER	N504105163109
172	6521	ISMAIL BADHASO	E435041756012
173	6525	ASAD TAKAR	Q767179158120
174	6614	YOSEF ANTENEH	P686162638520
175	6615	NUR MOHAMED	K231125705306
176	6618	KHALID HADDAOUI	L162144280209
177	6619	ELIAS YUSUF	N984109402321

# Appendix E

## Transportation Plus – Type III Vehicles

Unit ID	Year	Make	Model	Description	VIN#	License
T0319	2013	Chrysler	Town & Country	Minivan	2C4RC1CG4DR598330	MLX436
T0455	2019	Honda	CRV	SUV	2HKRW6H37KH217221	KYE213
T0553	2015	Chrysler	200	Sedan	1C3CCCCB6FN643794	KYW601
T0448	2016	Chrysler	Town & Country	Minivan	2C4RC1BG3GR231120	LGV229
T0354	2017	Dodge	Grand Caravan	Minivan	2C4RDGCG7HR818629	LJK907
T0128	2013	Kia	Soul	Sedan	KNDJT2A68D7485298	KCN046
T0514	2015	Kia	Sedona	Minivan	KNDMB5C18F6025425	ROBABK1
T0451	2015	Chevrolet	Equinox	SUV	2GNALAEK4F1169941	HHZ110
T0486	2014	Dodge	Grand Caravan	Minivan	2C4RDGCG9ER304745	HBR843
T0537	2017	Toyota	Sienna	Minivan	5TDZZ3DC7HS771390	KRZ182
T0483	2016	Nissan	Versa	Sedan	3N1CN7AP1GL846088	LGY847
T0361	2016	Chrysler	Town & Country	Minivan	2C4RC1BG2GR159276	KVN926
T0503	2011	Toyota	Sienna	Minivan	5TDJK3DC1BS028670	849XAU
T0499	2021	Toyota	Sienna	Minivan	5TDKRKEC5MS044706	KXF997
T0554	2018	Toyota	Camry	Sedan	4T1B11HK1JU080500	AUL313
T0479	2013	Chrysler	Town & Country	Minivan	2C4RC1CG6DR781762	HDV390
T0577	2014	Toyota	Sienna	Minivan	5TDKK3DC2ES500237	147XHA
T0474	2016	Toyota	Sienna	Minivan	5TDKK3DC3GS707772	ETB723
T0557	2014	Toyota	Sienna	Minivan	5TDJK3DC8ES084125	CJS819
T0525	2017	Dodge	Grand Caravan	Minivan	2C4RDGEG7HR555362	KPR197
T0356	2013	Toyota	RAV4	SUV	JTMN1RFV3MD074716	FYX191
T0330	2015	Nissan	Sentra	Sedan	1N4AL3AP1FC422736	EVG233
T0570	2015	Toyota	Sienna	Minivan	5TDYK3DC1FS671153	GMG025
T0472	2018	Toyota	RAV4	SUV	JTMBFREV1JD257002	KEL396
T0335	2021	Toyota	Highlander	SUV	5TDBZRBH3MS116155	JML362
T0535	2016	Ford	Taurus	Sedan	1FAHP2J83GG129985	DJR608
T0595	2018	Toyota	Sienna	Minivan	5TDYZ3DC6JS963398	BYU952
T0404	2016	Toyota	Sienna	Minivan	5TDXK3DC6GS764909	LLL203
T0471	2015	Toyota	Sienna	Minivan	5TDKK3DC2FS622694	BHZ814
T0599	2018	Honda	Odyssey	Minivan	5FNRL6H27KB085561	KGL130
T0551	2018	Dodge	Grand Caravan	Minivan	2C4RDGEG4JR205886	KUY551
T0355	2018	Honda	CRV	SUV	2HKRW6H34JH231480	CLV140
T0541	2016	Toyota	Camry	Sedan	4T1BF1FK9GU153559	NXC189
T0287	2011	Dodge	Grand Caravan	Minivan	2D4RN4DG1BR732592	AUJ456
T0481	2021	Toyota	Corolla	Sedan	JTDP4MCE1MJ057485	FGR881
T0571	2016	Toyota	Sienna	Minivan	5TDKK3DC6GS719737	859XYN
A3494	2013	Chrysler	Town & Country	Minivan	2C4RC1CG8DR662630	MRS535
T0347	2013	Honda	Odyssey	Minivan	5FNRL5H97DB074909	LBL385

Unit ID	Year	Make	Model	Description	VIN#	License
T0266	2016	Chrysler	Town & Country	Minivan	2C4RC1BGXGR212726	JNH077
T0388	2013	Dodge	Grand Caravan	Minivan	2C4RDGCGXDR576543	GFD718
T0360	2016	Honda	CRV	SUV	2HKRM4H7XGH72344	651VRN
T0588	2018	Toyota	Camry	Sedan	4T1B11HK5JU569269	GJU661
T0353	2015	Dodge	Grand Caravan	Minivan	2C4RDGBG9FR667002	HHU067
T0547	2016	Chrysler	Town & Country	Minivan	2C4RC1BG7GR148130	HKD791
T0564	2021	Toyota	Sienna	Minivan	5TDKRKEC1MS029507	KUT532
T0222	2012	Chrysler	Town & Country	Minivan	2C4RC1BG8CR286303	MPG471
T0385	2017	Toyota	Camry	Sedan	4T1BF1FK8HU304392	KMZ411
T0131	2014	Kia	Soul	Sedan	KNDJN2A24E7056779	LAN017
T0205	2012	Toyota	Scion XB	Sedan	JTLZE4FE8CJ010068	FZE222
T0516	2013	Dodge	Grand Caravan	Minivan	2C4RDGCG3DR655794	FPJ546
T0539	2016	Toyota	Camry	Sedan	4T1BF1FK8GU581509	GFF364
T0502	2016	Ford	Taurus	Sedan	1FAHP2D93GG137069	GYA478
T0393	2015	Toyota	Sienna	Minivan	5TDYK3DC4FS633822	KRG374
T0518	2019	Toyota	RAV4	SUV	JTMF1RFV7KD045155	KDP527
T0314	2016	Ford	Taurus	Sedan	1FAHP2MK6GG114582	FTM234
T0338	2015	Toyota	Sienna	Minivan	5TDYK3DC9FS623898	CAV531
T0250	2016	Dodge	Grand Caravan	Minivan	2C4RDGCG8GR278478	KPP518
T0580	2015	Chevrolet	Malibu	Sedan	1G11C5SLXFF319615	FZM866
T0507	2017	Toyota	RAV4	SUV	2T3RFREV9HW552263	JNP500
T0575	2017	Toyota	Sienna	Minivan	5TDYZ3DC4HS836188	640XNV
T0310	2016	Ford	Escape	SUV	1FMCU9G97GUC67001	KHX948
T0467	2014	Chrysler	Town & Country	Minivan	2C4RC1HG0ER132422	GXE320
T0533	2015	Toyota	Sienna	Minivan	5TDZK3DC0FS683136	HWB658
T0136	2015	Kia	Soul	Sedan	KNDJN2A2XF7166981	NDE672
T0464	2018	Toyota	RAV4	SUV	JTMDFREV2JJ221359	LGY445
T0416	2017	Hyundai	Santa Fe	SUV	5NMZU3LBXHH046165	ETF186
T0538	2018	Dodge	Journey	SUV	3C4PDCAB0JT340337	CDS369
T0408	2015	Dodge	Grand Caravan	Minivan	2C4RDGCG5FR567140	HWL541
T0185	2014	Kia	Soul	Sedan	KNDJP3A56E7724320	HDN274
T0381	2013	Toyota	Sienna	Minivan	5TDYK3DC1DS283739	DXN684
T0586	2016	Dodge	Grand Caravan	Minivan	2C4RDGCG0GR204990	KAW511
T0313	2012	Nissan	Rogue	SUV	JN8AS5MV1CW704053	EKB702
T0515	2014	Honda	CRV	SUV	2HKRM4H37EH602955	AGM613
T0344	2017	Dodge	Grand Caravan	Minivan	2C4RDGCG1HR858785	KRV210
T0508	2023	Honda	Odyssey	Minivan	5FNRL6H66PB070852	KXD606
T0419	2019	Toyota	Sienna	Minivan	5TDDZ3DC7KS226856	HXH432
T0501	2017	Nissan	Rogue	SUV	5N1AT2MV2HC791330	PGX196
T0423	2015	Hyundai	Sonata	Sedan	5NPE24AF4FH207184	LBP282
T0151	2014	Dodge	Grand Caravan	Minivan	2C4RDGBG1ER302005	HFA419

Unit ID	Year	Make	Model	Description	VIN#	License
T0436	2013	Honda	Accord	Sedan	1HGCR2F32DA143131	HHZ877
T0252	2016	Chrysler	Town & Country	Minivan	2C4RC1BG8GR254442	JNH097
T0562	2015	, Dodge	, Grand Caravan	Minivan	2C4RDGBG1ER462143	9PH777
T0560	2015	Toyota	Sienna	Minivan	5TDYK3DC5FS595730	BNT508
T0364	2015	, Chrysler	Town & Country	Minivan	2C4RC1BG4FR617799	ESV081
T0363	2017	, Toyota	, Sienna	Minivan	5TDKZ3DC5HS789534	CKM728
T0428	2015	Toyota	Sienna	Minivan	5TDKK3DC6FS605347	KNT203
T0513	2018	Dodge	Grand Caravan	Minivan	2C4RDGEGXJR344713	LKB843
T0210	2014	Chrysler	Town & Country	Minivan	2C4RC1BG5ER160841	KPR355
T0542	2015	Dodge	Grand Caravan	Minivan	2C4RDGCG1ER453053	JLS414
T0592	2013	Toyota	Sienna	Minivan	5TDYK3DC9DS311173	CPH962
T0382	2022	Toyota	Prius	Sedan	JTDKAMFU7N3187928	KGX757
T0305	2018	Chevrolet	Equinox	SUV	2GNAXSEV4JJ6173603	JLN612
T0574	2012	Toyota	Sienna	Minivan	5TDJK3DC8CS048058	KAS932
T0236	2015	Chrysler	Town & Country	Minivan	2C4RC1BG6FR571103	KCN604
T0333	2019	Toyota	Sienna	Minivan	5TDYZ3DC2KS994889	DCZ569
T0488	2013	Toyota	Avalon	Sedan	4T1BK1EBXDU066164	HXH574
T0417	2017	Dodge	Grand Caravan	Minivan	2C4RDGBG4HR568963	KAV827
T0543	2020	Honda	Odyssey	Minivan	5TDYZ3DC9LS033398	KVC043
T0263	2012	Dodge	Grand Caravan	Minivan	2C4RDGBG2CR220491	CJN541
T0415	2015	Toyota	Sienna	Minivan	5TDYK3DC9FS531917	846PKP
T0376	2014	Nissan	Altima	Sedan	1N4AL3APXEC149083	JTW281
T0565	2021	Toyota	Sienna	Minivan	5TDKRKEC8MS014891	9RL055
T0442	2022	Toyota	Sienna	Minivan	5TDKRKEC7NS122694	LFD913
T0359	2014	Honda	Odyssey	Minivan	5FNRL5H68EB053638	KSP864
T0585	2016	Chrysler	Town & Country	Minivan	2C4RC1BG9GR193490	JGM204
T0441	2016	Nissan	Sentra	Sedan	3N1AB7AP8GY319023	BWA302
T0462	2019	Dodge	Grand Caravan	Minivan	2C4RDGEG7KR752474	KRX051
T0346	2013	Honda	Odyssey	Minivan	5FNRL5H95DB051810	KJL820
T0405	2014	Dodge	Grand Caravan	Minivan	2C4RDGBG4ER374803	255NPC
T0497	2015	Honda	Odyssey	Minivan	5FNRL5H69FB117252	JCA801
T0375	2017	Toyota	Sienna	Minivan	5TDYZ3DC5HS867644	AKH965
T0148	2013	Kia	Soul	Sedan	KNDJT2A67D7764838	KCP401
A5446	2015	Dodge	Grand Caravan	Minivan	2C4JRGAG8FR585083	GTG151
T0326	2012	Mazda	6	Sedan	1YVHZ8BH3C5M02462	HRJ778
T0113	2018	Kia	Soul	Sedan	KNDJN2A25J7607232	JNH357
T0465	2016	Toyota	Sienna	Sedan	5TDYK3DC4GS727801	JCV108
T0183	2018	Kia	Soul	Sedan	KNDJN2A28J7544322	JNH359
T0400	2018	Honda	CRV	SUV	7FARW2H91JE056962	5BY880
T0432	2013	Toyota	Highlander	SUV	5TDBK3EH3DS241394	AJE321
T0394	2021	Toyota	Sienna	Minivan	5TDKRKEC9MS036169	HVC389
T0531	2014	Toyota	Sienna	Minivan	5TDKK3DC4ES433883	HBF699

Unit ID	Year	Make	Model	Description	VIN#	License
T0144	2013	Kia	Soul	Sedan	KNDJT2A58D7577521	DRH805
T0323	2015	Kia	Soul	Sedan	KNDJN2A25F7815537	LAM641
T0100	2013	Toyota	Scion XB	Sedan	JTLZE4FE7DJ033083	EEV244
T0391	2015	Honda	CRV	SUV	5J6RM4H53FL067745	PGY898
T0191	2013	Kia	Soul	Sedan	KNDJT2A51D7506967	JNH098
T0217	2014	Dodge	Grand Caravan	Minivan	2C4RDGBG9ER411148	FZG252
T0350	2023	Toyota	Sienna	Minivan	5TDYRKEC5PS137904	JTJ324
T0521	2015	Toyota	Sienna	Minivan	5TDYK3DC9FS595357	NPN617
T0559	2015	Dodge	Grand Caravan	Minivan	2C4RDGCG2FR540719	KAS345
T0242	2016	Dodge	Grand Caravan	Minivan	2C4RDGCG3GR380433	KCN624
T0549	2022	Honda	Civic	Minivan	2HGFE2F2XNH508500	GWL175
T3725	2013	Dodge	Grand Caravan	WC Ramp	2C4RDGBG6DR782220	EEU811
T0433	2013	Lexus	ES300H	Sedan	JTHBW1GG9D2021583	KSA107
A3439	2017	Dodge	Grand Caravan	Minivan	2C4RDGEG7HR599460	BFM810
T0316	2013	Dodge	Grand Caravan	Minivan	2C4RDGBG2DR634162	LTE009
T0129	2015	Toyota	Scion XB	Sedan	JTLZE4FE9FJ075192	0636BA
T0198	2013	Toyota	Scion XB	Sedan	JTLZE4FE2DJ045934	LWU691
T0341	2012	Dodge	Grand Caravan	Minivan	2C4RDGCG8CR139087	EHY690
T0234	2014	Dodge	Grand Caravan	Minivan	2C4RDGCG9ER423329	KCN045
T0132	2015	Kia	Soul	Sedan	KNDJN2A25F7789585	KCN047
T0366	2018	Dodge	Grand Caravan	Minivan	2C4RDGBG7JR221942	KDP421
T0434	2018	Chevrolet	Equinox	SUV	2GNAXSEVXJ6282941	EGP062
T0566	2015	Toyota	Camry	Sedan	4T4BF1FK8FR453971	AUC546
T0421	2016	Chrysler	Town & Country	Minivan	2C4RC1BG6GR290906	KUS154
T0306	2021	Chrysler	Voyager	Minivan	2C4RC1DG2MR520739	KJE735
T0411	2015	Toyota	Sienna	Minivan	5TDKK3DC3FS630948	KZA743
T0573	2014	Honda	Odyssey	Minivan	5FNRL5H68EB040565	NWR015
T0523	2015	Chrysler	Town & Country	Minivan	2C4RC1BG7FR552348	ESL669
T3708	2017	Dodge	Grand Caravan	WC Ramp	2C4RDGBG9HR776529	LAL772
T0569	2014	Honda	Odyssey	Minivan	5FNRL5H6XEB072854	NAD266
T0320	2015	Dodge	Grand Caravan	Minivan	2C4RDGBG0FR593856	NAK654
T0260	2017	Dodge	Grand Caravan	Minivan	2C4RDGEG5HR566599	KPP626
T0504	2016	Kia	Sportage	SUV	KNDPB3AC5G7805030	GFA876
T0519	2015	Toyota	RAV4	SUV	2T3RFREVXFW300082	JTT286
T0214	2014	Dodge	Grand Caravan	Minivan	2C4RDGBG6ER379159	JNJ233
T0311	2014	Honda	Accord	Sedan	1HGCR2F35EA018450	HHN545
T0397	2018	Honda	HRV	SUV	3CZRU5H54JM718927	KCB632
T0477	2017	Chevrolet	Equinox	SUV	2GNFLFEK5H6247894	ESC021
T0340	2017	Dodge	Grand Caravan	Minivan	2C4RDGEGXHR561673	KRA867
T0454	2015	Toyota	Sienna	Minivan	5TDYK3DC3FS529869	KPL567
A5022	2017	Dodge	Grand Caravan	Minivan	2C4RDGBG9HR562558	LAX807

Unit ID	Year	Make	Model	Description	VIN#	License
T0458	2016	Honda	Odyssey	Minivan	5FNRL5H68GB053464	JKC295
T0348	2020	Acura	MDX	SUV	5J8YD7H52LL001459	LFA740
T0149	2018	Kia	Soul	Sedan	KNDJN2A27J7607894	BJD812
T0351	2014	Subaru	Legacy	Sedan	4S3BMBC62E3036254	HCF526
T0325	2012	Ford	Fusion	Sedan	3FAHP0HA7CR400613	ERP254
T0491	2021	Honda	Odyssey	Minivan	5FNRL6H59MB031448	JNM278
T0309	2019	Toyota	Camry	Sedan	4T1B11HKXKU765080	HEM125
T0568	2011	Toyota	Sienna	Minivan	5TDYK3DC2BS077150	835XVX
T0345	2023	Toyota	RAV4	SUV	2T3A1RFV8PC336320	KLK066
T0396	2022	Toyota	Sienna	Minivan	5TDYRKEC3NS101187	KGH791
T0307	2015	Ford	Taurus	Sedan	1FAHP2J81FG142264	KGM125
T0444	2015	Hyundai	Sonata	Sedan	5NPE24AF4FH122611	BAZ087
T0262	2013	Dodge	Grand Caravan	Minivan	2C4RDGCG4DR678050	EEV292
T0215	2016	Dodge	Grand Caravan	Minivan	2C4RDGCG6GR328603	KPR354
T0239	2016	Chrysler	Town & Country	Minivan	2C4RC1BG1GR293888	CYF252
T0440	2014	Chrysler	Town & Country	Minivan	2C4RC1BG8ER444741	JEU663
T0511	2019	Dodge	Grand Caravan	Minivan	2C4RDGBG5KR607874	JFX868
T0218	2015	Dodge	Grand Caravan	Minivan	2C4RDGBG2FR724592	NSJ624
T0332	2017	Nissan	Sentra	Sedan	3N1AB7AP4HL645884	KAW509
T0485	2015	Honda	Odyssey	Minivan	5FNRL5H66FB125910	JPM891
T0546	2015	Mitsubishi	Outlander	SUV	4A4AR3AU8FE048721	BCS797
T0505	2017	Nissan	Altima	Sedan	1N4AL3AP2HC255063	LTV563
T0552	2016	Chrysler	Town & Country	Minivan	2C4RC1BG5GR260909	CDR478
T0500	2017	Nissan	Rogue	SUV	5N1AT2MV8HC821933	LWV131
T0302	2014	Chevrolet	Captiva	SUV	3GNAL4EK6ES663089	LDW669
T0489	2017	Nissan	Altima	Sedan	1N4AL3AP9HC113020	DKE039
T0550	2023	Toyota	Sienna	Minivan	5TDYRKEC2PS165191	LYR183
T0446	2019	Toyota	Sienna	Minivan	5TDYZ3DCXKS990511	FPS092
T0510	2018	Toyota	RAV4	SUV	JTMBFREV6JJ219430	LHA347
T0115	2016	Kia	Soul	Sedan	KNDJP3A55G7821415	LWV160
T0374	2024	Mitsubishi	Outlander	SUV	JA4J4VA8XRZ028112	LUV031
T0386	2019	Dodge	Grand Caravan	Minivan	2C4RDGEG2KR571489	LWD693
T0572	2017	Kia	Soul	Sedan	KNDJN2A2XH7477037	LYZ870
T0468	2023	Honda	CRV	SUV	2HKRS6H54PH811933	KRD120
T0447	2015	Chrysler	Town & Country	Minivan	2C4RC1BGXFR571721	PFZ086
T0301	2023	Toyota	RAV 4	SUV	2T3F1RFV3PC337641	LCG604
T0495	2016	Acura	MDX	SUV	5FRYD4H63GB036640	GCB040
T0478	2019	Nissan	Murano	SUV	5N1AZ2MS2KN159573	EBL245
T0337	2012	Mazda	5	Sedan	JM1CW2BL7C0124916	JDG637
T0430	2017	Toyota	Sienna	Minivan	5TDDZ3DC4HS160646	LYM614
T0422	2012	VW	Routan	Minivan	2C4RVABG6CR390511	KNN574
T0365	2016	Chrysler	Town & Country	Minivan	2C4RC1CG2GR111517	2960809

Unit ID	Year	Make	Model	Description	VIN#	License
T0398	2013	Chrysler	200	Sedan	1C3CCBBB5DN515877	074LUK
T0426	2014	Toyota	Prius	Sedan	JTDKN3DU1E0379543	789UKZ
T0463	2017	Toyota	Camry	Sedan	4T1BF1FK7HU717520	KLD108
T3729	2013	Dodge	Grand Caravan	WC Ramp	2C4RDGBG0DR804454	EEU807
T0133	2012	Kia	Soul	Sedan	KNDJT2A58C7428802	EEU813
T3728	2013	Dodge	Grand Caravan	WC Ramp	2C4RDGBG2DR773904	EEU806
T0120	2017	Dodge	Grand Caravan	Minivan	2C4RDGBG1HR601837	EEU805
T3710	2015	Dodge	Grand Caravan	WC Ramp	2C4RDGCG1FR549007	BRV591
T0264	2012	Toyota	Scion XB	Sedan	JTLZE4FE8CJ020244	FZF087
T0221	2015	Dodge	Grand Caravan	Minivan	2C4RDGBG9FR684009	DRU558
T0160	2012	Dodge	Grand Caravan	Minivan	2C4RDGBG4CR156132	064XNJ
T0104	2015	Dodge	Grand Caravan	Minivan	2C4RDGBG8FR684020	JDL321
T0203	2010	Kia	Soul	Sedan	KNDJT2A28A7075884	CNN495
T0437	2014	Toyota	Sienna	Minivan	5TDYK3DC7ES504679	BSD377
T0558	2017	Toyota	Camry	Sedan	4T1BF1FK3HU809420	EHD160
T3717	2014	Dodge	Grand Caravan	WC Ramp	2C4RDGCG2ER120845	DRU567
T0390	2015	Toyota	Sienna	Minivan	5TDYK3DC1FS671198	CZW633
T3713	2012	Dodge	Grand Caravan	WC Ramp	2C4RDGBG6CR419804	DFB780
T0520	2012	Dodge	Grand Caravan	Minivan	2C4RDGBG7CR194244	MGZ474
T0583	2015	Honda	Odyssey	Minivan	5FNRL5H46FB010738	344RAR
T0383	2014	Ford	Edge	SUV	2FMDK4GCXEBA15318	DHY213
T0561	2014	Dodge	Grand Caravan	Minivan	2C4RDGBG2ER340813	AWX202
T0490	2012	Chevrolet	Equinox	SUV	2GNALBEK6C1130060	MVY677
A5540	2014	Chrysler	Town & Country	Minivan	2C4RC1BG1ER224390	EDT846
T0117	2015	Toyota	Scion XB	Sedan	JTLZE4FEXFJ075346	0335BA
T3707	2013	Dodge	Grand Caravan	WC Ramp	2C4RDGBG2DR651947	ERE200